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QUESTION 1

On the Alcatel-Lucent 7750 SGW, which of the following is the CLI command to check the "UP / IDLE" state for the GTP
path to a PGW?

A. Show mobile-gateway serving ref-point-peers s5
B. Show mobile-gateway serving ref-point-stats s5
C. Show mobile-gateway serving ref-point-peers slu
D. Show mobile-gateway serving path-mgmt s5

E. None of the above answers are correct.

Correct Answer: A

QUESTION 2

Based on the information shown in the exhibit, and assuming this is the only bearer present, what is the action taken by
the SGW when:

3CW# show mobile-gateway serving bhearer-context imsi 226041000000001 detail

Bearer context detail

I ESE T T =T SO aTEEooEE SR T TR = 5 T EE RS e e AR

INSI : 226041000000001

APN : ipd.alcatel-lucent.com

Bearer Id ] Bearer type i Default
Tp Time :t Dd 00:00:06

QCI/ARF L

No% UL HER : D Fhps flog DL HBE : 0 Ehpa
oS UL GBR : 0 Khps QoS DL GBR : O Ebpa
55 PCY Data TEID : Ox&02d25 55 SGW Data TEID : Oxd06c0S

55 PGW Data addr : 10.10.7.2

55 SCW Date addr : 10.10.7.1

310 eNodeB TEID : Ox0 51U SGW TEID 1 OxdD6c25
510 eNodeB addr L

510 SGW address : T72.22.24.163

35 UL packets ain] 55 UL bytes
510 DL packets : 510 PL bytes
511 Qo5 Modify t-0

g2

LT

=

The SGW receives a GTP packet over its S5 interface, and
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The TEID value in the GTP header is set to 0x802d25?
A.

The packet is forwarded to the eNodeB

B.

The packet is buffered.

C.

The packet is dropped.

D.

The packet is forwarded to the MME.

Correct Answer: C

QUESTION 3

On Alcatel-Lucent 7750 PGW, which of the following CLI commands can be used to debug a given IMSI?
A. debug mobile-gateway pdn 1 pdn-session imsi 226041000000008

B. debug mobile-gateway pdn 1 pdn-session-db imsi 226041000000008

C. debug mobile-gateway pdn 1 pdn-session imsi 226041000000008 apn ipd.alcatel-lucent.com

D. debug mobile-gateway pdn 1 pdn-session-db imsi 226041000000008 apn ipd.alcatel-lucent.com

E. Answers A and C are both correct.

F. Answers B and D are both correct.

Correct Answer: C

QUESTION 4

On an Alcatel-Lucent 7750 PGW, which of the following is a mandatory step required to set up a Diameter connection to
a PCRF server?

A. Create a Diameter profile.

B. Create a Diameter Peer profile.

C. Assign the Diameter profile to the Diameter Peer profile
D. Assign the Diameter Peer profile to the Gx interface.

E. All of the above answers are required.
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F. Only answers B and D are required.

Correct Answer: F

QUESTION 5

Which of the following LTE interfaces are used for the communication of user data? (Choose one best answer)
A. The S1-MME interface and the S11 interface.

B. The S1-U interface.

C. The S5 interface.

D. The S1-U interface, the S5 interface and the LTE-Uu interface.

E. Only answers A, B and C are correct.

F. Only answers B and C are correct.

Correct Answer: D
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